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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
0 2  June, 2018 	 1 26  

ELECTIVE COURSE : COMMERCE 

ECO-007 : ELEMENTS OF STATISTICS 

Time : 2 hours 	 Maximum Marks : 50 

Weightage :. 70% 

Note : There are three sections. All are compulsory. 

SECTION - A 

1. 	Fill in the blanks with appropriate words as given 
in brackets. 	 5x1=5 

(a) Data must be collected in a 	 
manner. (systematic/unsystematic) 

(b) Purpose of statistics into provide 
	  measure. (alphabetical/ 
numerical) 

(c) 	 is a measure of an expectation 
that an event will or will not happen. 
(Analysis/Probability) 

(d) Skewness is positive when mean is 
	  mode. (lesser than/ greater 
than) 

(e) A good sample must be based on 
selection. (conscious/ random) 
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2. State whether the statements given below are True 
or False : 	 5x1=5  
(a) Planning without statistics in a ship without 

rudder and compass. 

(b) Secondary data should never be accepted 
without careful enquiry. 

(c) In census method each unit of universe is 
studied. 

(d) Size of a questionnaire should be large. 

(e) Tables are a means of recording in 
temporary form. 

SECTION - B 
Attempt any two from the following : 

3. 	(a) What are the main sources of secondary 
data ? What precautions should you 
observed in making use of secondary data ;+5.8  

(b) A trader bought an article for 340 and sold 
it gaining 15% of the sale price. What is his 
gain ? And, if the cost price is increased by 
25% and the sale price by 10%. What will 
be the change in his gain ? 4+3=7 

4. (a) Calculate the median and mean deviation 10 
from the following data given below : 

Class 

interval 
15-20 20-25 25-30 30-35 35-40 40-45 

Frequency 7 8 11 22 12 4 

(b) Explain the demerits of Lorenz curve. 	5 
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5. (a) What is sampling ? Explain briefly the 
various methods of sampling. 

5, 5 

(b) Write a short note on "Law of Statistical 5 
Regularity". 

6. (a) Distinguish between biased and unbiased 
errors. Discuss the method of estimating 
these errors both absolutely and relatively. 

5, 5 

(b) The Average cost of 104 units is estimated 
as 	20. It had be estimated that the 
approximate error in each unit is 5%. Find 

5 

Total Absolute error. 

SECTION - C 

7. Distinguish between any two of the following : 5, 5 

(a) Dispersion and Skewness 
(b) Histogram and Historigram 
(c) Quartiles and Decides 
(d) Harmonic mean and Geometric mean 
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